SA-I (September Exam - 2014)
Time -2%2 Hours Class -7th
Subject: Mathematics

All Questions are compulsory

1. (i) Add (-10)+3=

(i) 0+ (-25) =
(iii) 1 x3=
3 2

(iv) Write the formula to calculate Mean.
(v) Give an example for parallel lines .
(vi) Sum of three interior angles of triangle is ?.
(vii) (4)* =
(viii) Multiply and convert in lowest form
1 x15
3 8
2. Find 'mode’ for following scores
2,6,5,3,0,3,4,3,2,5,3,3
3. Write the below expression in the form of equation:-
Difference of y and 2 is equal to 8.
4. Find the supplementary and complementary pairs below:-
(i) 65°,115°
(i) 80°,10°

5. Find the value of X from following fig.

cof

7o x

Total Marks=75

1x8=8




6. (6 x 6 x 6 x 6) > write it in exponent form.
7. Ifa=21,b=18findthe (a)-(-b)=a+b
8. Find the area of rectangle whose lenght is 5.7 cm and breath is 3cm

9. In maths exam, marks of 10 students out of 25 is given below
19, 25, 23, 20, 9, 20, 15,10, 5, 20 Find the Mean.

10. Solve the equation: - 3x +12 =24

11. From given figure, find the value of 'x' ?

X
12. Triangle has Sides
Triangle has vertices

Triangle has angles
Triangle has Parts

13. Using the laws of exponents, solve
(i 72 x 7°
(i) 6~ + 6"

14. Organize the following marks in a class assessment in a tabular form
4,6,7,5,3,5,4,5,2,6,2,5,1,9,6,5,8,4,6,7
Which no. is the highest
Which no. is the lowest
What is the range of data
Find the arithmetic mean

15. Add 4 to eight times a number you get 60, Find the number.

3x7=21

4x7=28

16. A two wheeler covers 55.3 km in 1 litre. How much distance it will cover in 10 It.

OR
Which is bigger from the following fraction

3/40of2/7 or 5/8 of 3/5



17.

18.

A tree is broken at a height of 5m from the ground at a distance at 12m from the

base of the tree, find the original height of the tree.

OR

Find the value of X from following fig

L 4

Prove that when two lines intersect, the vertically opposite angle so formed are

equal.

OR

Raju's father's age 5 years more then three times Raju's age. Find Raju's age if his

father is 44 years old

6x3=18
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